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Unit 78 Day 21: Applications of standard form

Focus ‘on.:
Question: How do 1 use standard Jorm knowledge to solve a word problem?

’ 1) The profits of Mr. Unlucky’s company can be represented by the function P(x) = -3 + ]8x - 4,

where P is the amount of profit in hundreds of thousands of dollars and x is the number of years of
operation.

»~ @) How long can Mr. Unlucky stay in business before going into debt? kl'ﬁ
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b) W£n should Mr. Unlucky sell his business for the rggst profit?
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c) If Mr. Unlucky sold his business after 4 years, how much less would his profit be than if he had
sold it for the maximum profit?
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meters by 10 meters is to have a pedestrian pathway installeg,all ar
rea to w square meters. What will be the width of the pathwa\\L
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2) A garden measuring 12
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3) An airplane took off from JFK airport with a climbing altitude of 30 feet per se%e' same
time. George threw a penny off the Main Deck observatory at the Empire State Building which has a
height of 1050 feet. The height of the penny, A, in feet after r seconds can be modeled by thé ==
function k(1) = -16r° + 18t + 1050. When are the penny and the plane at the same height?
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